
 HA-1002-a-23-2-o 6 / 8 lees verder ►►►

1p 25 What is the point made in paragraph 6? 
A Businesses should be more open to sharing their expertise. 
B Companies benefit from hiring a more diverse workforce. 
C Much can be achieved if car manufacturers start out right. 
D The car industry has probably lost its window of opportunity. 
 

1p 26 How can paragraph 7 be characterised best? 
A as a compliment to the car industry 
B as a joke at the expense of the car industry 
C as an apology on behalf of the car industry 
D as an appeal to the car industry 
 
 

Tekst 7  The Party  
 
‘all at once worried that he wouldn’t remember me’ (regel 9-10) 

1p 27 Uit welke zin verderop in de tekst blijkt dat de zorg van de verteller 
terecht kan zijn? 
Citeer de eerste twee woorden van deze zin. 
 

1p 28 Which of the following fits the gap in line 25? 
A her attitude towards politics 
B her lack of style 
C her need for approval 
D her refusal to act her age 
 

3p 29 Komen de volgende beweringen overeen met de tekst? 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 The Prime Minister tries to cover up the fact that he has arrived rather 

late by making a loud entrance. 
2 The narrator may have made too much of being acquainted with the 

Prime Minister. 
3 The party is in celebration of Ben becoming a father. 
4 The narrator is surprised about feeling emotional after being upstaged 

by the host. 
5 Serena and Fiona have clearly had a recent falling-out. 
 
 

Tekst 8  Can tiny homes solve big problems for the homeless? 
 

1p 30 Komen de volgende beweringen overeen met wat Danella Donlan (brief 1) 
schrijft? 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 Het bouwen van ‘tiny homes’ om daklozen op te vangen gaat meer 

geld kosten dan nodig is. 
2 ‘Tiny homes’ zijn geschikt om ouderen in te huisvesten. 


